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1) — \2sinx — sin (n — (Z — x)> =0 - \2sinx — sin (% — x) =0,
V2 V2

T T
—\/Esinx — sianosx + coszsinx =0, \/Esinx + TCOSJC — 7sinx =0

(4
V2sinx + V2cosx = 0, tgx+1=0, tgx=-1, x= _Z+ n, nezZ

2) 1+ sin2x =1+ sinbx, sinbx — sin2x =0, 2sin2x cos4x = 0,
mn

a) sin2x =0, 2x = Tn, X = EX nezZ
T T Tn
6) cos4x =0, 4x=E+7m, x=§+T, nezZ
3) sin*x + cos*x — 2sin®x cos?x = 0, (sin’x — cos?x)? =0,
sin®x — cos?x = 0, tg?x —1 =0, tgx = +1
A A
a) tgx =1, x=—+mnn; 6) tgx =—1, X =——+471n,

4 4
T

x=iZ+1tn, neZ



